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( C/C++/Java Matlab/octave/scilab Mathematica )
Matlab
h(n) ={1,1} Matlab octave

>> x = [1, 11; //

>> [H, w] = fregz(x, 1, 100, “whole®); //

>> plot(w, abs(H)); //

1 sin(nz/2
N=6 h(n) = 1 sin(nz/2) Matlab octave
2 nxl2

> x = []; //

>> N =6 //

>> for k = 0:N //

if(k ~= N/2) x(k+1) = sin((k-N/2)*pi/2)/((k-N/2)*pi); // Matlab

else x(k+l) = 1/2;

end

end

>> [H, w] = fregz(x, 1, 100, “whole™); //

>> plot(w, abs(H)); //
Matlab UNIX

matlab

scilab Matlab Windows

octave



octave: http://www.octave.org

scilab: http://scilabsoft.inria.fr/



